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General Instructions :

(i) The question paper comprises five sections, A, B, C, D and E. You
are to attempt all the sections.

(ii) All questions are compulsory.
(iii) Internal choice is given in sections B, C, D and E.

(iv) Question numbers I and 2 in Section-A are one mark questions.
They are to be answered in one word or in one sentence.

(v) Question numbers 3 to 5 in Section B are two-marks questions.
These are to be answered in about 30 words each.

(vi) Question numbers 6 to 15 in Section C are three-marks questions.
: These are to be answered in about 50 words each.

. (vii) Question numbers 16 to 21 in Section D are five-marks questions.
These are to be answered in about 70 words each.

(viii) Question numbers 22 to 27 in Section E are based on practical skills.
Each question is a two marks question. These are to be answered in

brief.
o
E)
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WIT—3
SECTION-A
farraam & ST A o1 A 3R gt uftym fafay)

Name and define the ST unit of current.

Y & W@ T 1 A 1 3T gfgwraan fafau)

Write the name of the main constituent of biogas. Also state its
percentage.

HT-
SECTION-B
39 qcd X w1 AW, T IR e fame fafee Seh awmm
e 11 2
AT
F1 = feu o aeai % wg SfoeR & B % wv § affed fe S
Tehd &7
(a) Na, 81, Cl (b) Be, Mg, Ca
% dedl s YTATY] GUHT 36 T &

Be-9; Na-23, Mg—24, Si-28, C1-35, Ca—40
T WUl H 379 I <Y gfe Fifdrg

Write the name, symbol and electronic configuration of an element

X whose atomic numberis 11.

OR
Can the following groups of elements be classified as Dobereiner’s
triad:
(a) Na, Si, CI (b) Be, Mg, Ca
Atomic mass of Be-9; Na-23, Mg—24, Si-28, CI-35, Ca—40.
Justify your answer in each case.
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4. mmﬁozaﬁtcozwwﬁﬁa‘mﬁm%? 2

How is O, and CO, transported in human beings?

s 33 g & g fefgy o wRE A f gemed AfEn ol @
3@ Ffu| 2

Write the structure of eye lens and state the role of ciliary muscles
in the human eye.

W9
SECTION-C
6. ﬂmwmﬁwﬁmﬁq@ma@maﬁﬁzm

%l@ﬁ%%ﬁmmmlmﬁm&w
oz 2 e st i e e 21 FER pH i o et 3

Identify the acid and base which form sodium hydrogen carbonate.
Write chemical equation in support of your answer. State whether
this compound is acidic, basic or neutral. Also write its pH value.

7. aﬂ?%maﬁéﬁaﬁ%mm,m%mwﬁﬁ

W@,ﬂ%ﬁwﬁzﬁﬁﬁ%mﬁﬁm—@%@: 3
(i) a9E (gu) 1 & dcdi 1 AFE1ES
(i) THE 13 % dcal ®l eellss
(iii) HYE 2 % ad A HIT TR 17 % ded B % wAeE 8 a4 A
Based on the group valency of elements write the molecular
formula of the following compounds giving justification for cach :

‘ (i) Oxide of first group elements. |

‘ (ii) Halide of the elements of group thirteen, and

(iii) Compound formed when an element, A of group 2 combines
with an element, B of group seventeen.
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8. A feon i 0 o faeer weiEs S T g W % o
RIS T T@T 9T 2| 39 YT § 379 w1 YT w317 g arell varfies
sifufsran =1 qfoa tamEie wde G @ ramtre sfyfmn 5
TN W TEEeRt ferfau)
FroraT

= e U yersE g 1 B9 arelt sAfufEn & ver w ggaiiu i
3ae foTu dqfera Temafren gt fafiag)
(a) o faear argee @ sifafsran @r e agee o fieaw amman 21
(b) WiRfirm wrieEe de aEe ¥ sl s v e o

g JATEIEE 94T 2|

2 g of silver chloride is taken in a china dish and the china dish is
placed in sunlight for sometime. What will be your observation in

this case ? Write the chemical reaction involved in the form of a- .

balanced chemical equation. Identify the type of chemical reaction.
OR

Identify the type of reactions taking place in each of the following
cases and write the balanced chemical equation for the reactions.

(a) Zinc reacts with silver nitrate to produce zinc nitrate and
silver.

(b) Potassium iodide reacts with lead nitrate to produce potassium
nitrate and lead 1odide.

ardegst # aferrer fafgu) s aten w1 frefifa w@ & oo fe
s ) firer i)
Define the term transpiration. Design an experiment to demonstrate

|
this process.
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10.

1.

12.

gaE e 6 g Srfafa = 27 3@ uftgen & samen sgfom
1 IETE A Fifo

What is feedback mechanism of hormonic regulation. Take the

example of insulin to explain this phenomenon.

urey g @ g 8¢ fefafea % e seeeft aey g@W s am
fefan

(i) @ i 3fg # werr=

(i) eifareR favmem =1 Sfa s

(iii) af =1 ewa

(iv) =ifsreRt 6 Tms | gig § weEs

What are plant hormones ? Name the plant hormones responsible
for the following :

(1) Growth of stem

(ii) Promotion of cell division
(ii1) Inhibition of growth

(iv) Elongation of cells

5 et A ferfn P T e 3 s A § e anl w
IR o ST A 9Tedl & G AT df I Fp 3N F, difeat d
Hafadl & 9 ¥ THR WH gU? F, fift § 3% W @i §

Riicy

Jtrar
TCIF I UH-UH IS ¢d gU I 3R AAfRE Asn & o=
=l Y g aETEv)

b
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Name the plant Mendel used for his experiment. What type of
progeny was obtained by Mendel in F) and F, generations when he
crossed the tall and short plants? Write the ratio he obtained in F,
generation plants.

OR

List two differences between acquired traits and inherited traits by
giving an example of each.

13. @@l %1 ga e w2 gen i ? 39 dF sl ogEh sEEn
TR HEAT % g faan % foeg w1 e gwd) 2 3

Why should there be equitable distribution of resources? List three
forces that would be working against an equitable distribution of
OUT Tesources. |

14. =mfere & foer 6 ooen & o9 w@ § w9 R gen geEdr
TR &7 = fafeet gamsu) 3

Uar

aiftas i aftarsr fofau) fed oy & set-var aof % b sars
a1 Wit

How can we help in reducing the problem of waste disposal ?
Suggest any three methods.

OR

Define an ecosystem. Draw a block dlagram to show the flow of
energy in an ecosystem.

15, S5UEY H1 87 39Uy s ani ¥ e qmifea e it 3
What is a rainbow? Draw a labelled diagram to show the formation
of a rainbow.

S EYE
Em
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W~
SECTION-D
16. 36 Aifiek &1 41 i vEEfE g3 ol St et dewere T e
1 HEcAUl AT B R &1 3T Y gE SR B Al st
1 THIIeh HRTT 94T I8 &1 19 fafig 59 98 @fies - 5
(i) wifeam ag & srfufsrar s 2
(i) T Hg Tew]iie 3wt @ sfufsar s 2
FreraT
B 1 R7 gEeh seig-faeg deE @i s e § a e
ATl w1 g fefan) g gen & A9
(i) forga % Famers am
(i) =W T TR FH FGUATH G 9 B &7 F B 2 A9 34
3ifires a1 saTerdflS o @Ed gar 2 7

Write the chemical formula and name of the compound which is
the active ingredient of all alcoholic drinks. List its two uses. Write
chemical equation and name of the product formed when this
compound reacts with —

(1) sodium metal
(ii) hot concentrated sulphuric acid

e,
—_—

OR
What is methane? Draw its electron dot structure. Name the (
type of bonds formed in this compound. Why are such compounds? |
(1) . Poor conductors of electricity and |

(i1) ‘Have low melting and boiling points? What happens when this
compound burns in oxygen? |
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17. (a) Tr=fafga stfafrasy & qamats adeo @t 5
(i) e urg sa | el sl 21
(i) fommem = arg 6 ufesfa § wf fFan s 24
(i) B gTgeTiaaTse W UGt weet & Y v e S
2
(b) fasreng @ €7 fasrargett % & qoremt 6 gt sy

(a) Write chemical equations for the following reactions:
(1) Calcium metal reacts with water.
(i1) Cinnabar is heated in the presence of air.
(111) Manganese dioxide is heated with aluminium powder.

(b) What are alloys ? List two properties of alloys.

18. wIE forar 30 om wishd gft % forefl st &\ @ 30 em gl W feora 2 5 i
(i) & ga o swE e SR ) o @ g Feffa B |
(i) 38 @ # S g R % sl (seh, R, |

arew, e /an) i g s i
(i) T (if) % 319 I Y giE F e amifea fmo ama it
An object is placed at a distance of 30 cm from a concave lens of
focal length 30 cm.

(1) Use lens formula to determine the distance of the image from
the lens.

(i1) List four characteristics of the image (nature position, size,
erect/inverted) in this case.

i
(111) Draw a labelled diagram to justify your answer of part (ii)

31712 9 | [P.T.O.



19. (a) forelt Soer aftay s i werd § g7 fag Hif fe arwdsn o

g gfaliel & @qg % god Ufaty 1 SgoRH s Yol 6
SeshHl % AT % SR AT B

(b) el uftger # 12 Q & 31 fadras 6 V i Sl & fod @ arvdsn

T w81 T2 @ ot 7 g 3 SR
e

afty # guifu oFER 6 V it Rl St @ 20 Q wlata =1 wE
faem dm 4 Q iy & =ers 8 gl 2) Fefafed & aE
gfterfera hifsu

(a) dfay F1 Fa1 Ry, ——.-m——»—@—»—

(b) e 3 s e, e
() () fagaeeram 1
(ii) =meres & &0 @
favar=az g _ K
(d) &7 ) wifE| ima"lv* ol

(a) With the help of a suitable circuit diagram prove that the

reciprocal of the equivalent resistance of a group of resistances
joined in parallel is equal to the sum of the reciprocals of the
individual resistances.

(b) In an electric circuit two resistors of 12 € each are joined in

31/1/2

parallel to a 6 V battery. Find the current drawn from the
battery.

OR

/An electric lamp of resistance 20 Q and a conductor of

resistance 4 € are connected to a 6 V battery as shown in the
circuit. Calculate :

10




(a) the total resistance of
the circuit, — AN .@——)—

4Q
(b)the current through the
cireuit,

A 4

(¢) the potential difference
across the (i) electric

lamp and (i1) L HHHF (A

conductor, and 6V

N
(@

(d) power of the lamp.

20. ufrferer fRe wed 87 (i) foreft amadt wfenferm siv (i) freht o2
I 1 ey & st w1 G omfa fif) @ et a2
ferdeTermy @amot < g s 5

What is a solenoid ? Draw the pattern of magnetic field lines of
(i) a current carrying solenoid and (i) a bar magnet. List two
distinguishing features between the two fields.

ZI.WﬁQﬂw%ﬁmﬁﬁﬁm%Wﬁﬁmﬁﬁﬁm
W % g CNEl (ATekl) f gt SISl Suge W R SR
o il S S S ST ey 27 5

HYAT

(a) 6T MU oM@ W Rt Th 9T 1 ¥ S
TF & 9 forfiay)
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(b) o e for e &7 mi-ftess faftat s & 69 ol
EEUEEIEY
Define pollination. Explain the different types of pollination. List

two agents of pollination ? How does suitable pollination lead to
fertilization ?

OR

(a) Identify the given diagram. Name the
parts | to S.

(b) What is contraception? List three
advantages of adopting contraceptive
measures.

1
SECTION-E
22. “vawa ety § CO, frmadt 27 5w vam ) g saeeen § g
g2 1 9w fafgr fl veaEr s § 9w 9 e § R
ST 31 96 vered F FH i gweh 3wm ¥ afom %1 3@ Hif 2

In the experimental set up to show that “CO, is given out during
respiration”, name the substance taken in the small test tube kept in

the conical flask. State its function and the consequence of its use,

317172 12




23. aﬁé@ﬁﬁwﬁq\mﬁﬁqﬁ%ﬁm&%mmwﬂmm

24.

28,

@ 2 Qﬂﬁﬁﬁﬁqmtaﬁmwmﬁﬁam@ﬁm
HYAT

FIS1 H G 61 i 3 o 3 v it v i

A student is observing the temporary mount of a lcaf peel under a

microscope. Draw labelled diagram of the structure of stomata as

seen under the microscope.
OR

Draw a labelled diagram in proper Sequence to show budding in
hydra.

mwmﬁﬁaﬁqﬁ?wmwﬁﬂﬁwaﬁ,mw
mmmﬁmwmﬁaﬁm@ﬁ%ﬁwﬁm%
sﬁﬁmaﬁ%@ﬁq&mmmﬁu’r&amél

List four precautions which a student should observe while
determining the focal length of a given convex lens by obtaining

image of a distant object on a screen,

Fﬂﬁwﬁﬁw%m%am(lmmmﬁ%ﬁﬁmﬁwmm
ﬁ%_mmmmnﬁﬂwmwﬁﬁumm%m
%ﬁrmﬁm%ﬁﬁmﬁ%msmwvﬁﬂ%aﬁa
m@mwmq\aﬁgﬁgﬁﬁmm}@mr%mw
qﬁam%?wmwwm-mmaﬁﬁuﬁ%m

31/12 13 [P.T.O.

~ R



26.

Far

3g feafa & am foreft o1 &1 71 gena < 99 98 a8 Tran @ fh 9fy
g g9 W ot spfiet SR dicedier % dhae/ggl s duEl W

Aferd v sl & dardt 78 €7 wavmmen # sAfafed srier/ ateeiat

39y &l B

While studying the dependence of potential difference (V) across a
resistor on the current (I) passing through it, in order to determine
the resistance of the resistor, a student took 5 readings for different
values of current and plotted a graph between V and I. He got a
straight line graph passing through the origin. What does the
straight line signify? Write the method of determining resistance of

the resister using this graph.
OR

What would you suggest to a student if while performing an
experiment he finds that the pointer/needle of the ammeter and
voltmeter do not coincide with the zero marks on the scales when
circuit is open? No extra ammeter/voltmeter is available in the

laboratory.

i wEAfert A, B o C # s o fafvm ga-smga e, yoiet
3R g et foret ue geoht SHfcam gethe gen 2, fag o #) waw
wrEeEl § aa qE § w6 e e wefivifa e mn )
s B o qEEl g B e s a7 S I O
FHifsu|
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In three test tubes A, B, and C, three different liquids namely,
distilled water, underground water and distilled water in which a
pinch of calcium sulphate is dissolved, respectively are taken.
Equal amount of soap solution is added to each test tube and the
contents are shaken. In which test tube will the length of the foam
(lather) be longest ? Justify your answer.

27. aw%ﬁAaﬂiBﬁﬁm:agHaaﬁtNaOHﬁwsﬁé,ﬁ

ﬁé%mmﬁmﬁwwwélﬁ@%awsﬁﬁﬁﬁ
WWW?WﬁMW'mWWWW
difr

%@ﬁﬁﬁmﬁtwm@%ﬁ,ﬁaﬁ1g@%mmﬁﬁzmwé,
2mLagms@aEﬁh¢wfﬁaﬁwmwﬁw=ﬂ%%?sﬁmﬁ
wﬁ%mmumﬁmam%mr

Blue litmus solution is added to two test tubes A and B containing
dilute HCI and NaOH solution respectively. In which test tube 2

colour change will be observed? State the colour change and give

1ts reason.

OR

What is observed when 2 mL of dilute hydrochloric acid is added

to I g of sodium carbonate taken in a clean and dry test tube? Write
|

chemical equation for the reaction involved,
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